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I. (a) Show how a clinical psychologist is involved in psychotherapy and assessment. 7
OR
Discuss in short the birth of clinical psychology.
(b) Explain the key assumptions of the cognitive model. 7
OR

Discuss the Interpersonal model in short.

2. (a) What do you understand by Planning in assessment ? 7
OR
How does a clinical psychologist take the case history of a patient ?
(b) Show the importance of rapport in a clinical interview. 7
OR

Differentiate between naturalistic and controlled observation.

3. (a) Give an overall view of the Wechsler Intelligence scales. 7
OR
Give an overall view of the Stanford-Binet Scales.
(b) Define Aptitude. How can you measure Aptitude ? 7
OR

Define learning disabilities. How can you do assessment of a child having learning
disability ?

4.  (a) Explain the administration and scoring of Rorschach Inkblot technique. 7
OR
Explain the administration and scoring of TAT in short.
(b) Discuss the typical procedures of behavioural assessment. 7
OR

Elaborate any one behavioural assessment method.
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5. Answer in a line or two : 14
(1) Clinical psychology lays emphasis on , , and

(2) In APA division no. of Clinical psychology is
(3) Whatis RCI?

(4) Match the following :
(a) Witmer — advocated individual differences
(b) Pinel - built hospitals for mentally ill
(c) Dix — First psychological clinic
(d) Galton - early pioneer in psychiatry

(5) Fill in the blanks :

(1) Id works on principle.
(i) Ego works on principle.
(11) Superego works on principle.

(6) Who was Aaron Beck ?
(7) What is the meaning of classical conditioning ?
(8) What is classification ? Give two examples of classification.
(9) What is bias in clinical judgement ?
(10) Name two types of clinical interview.
(11) Which of the following is not a part of intelligence :
(a) Aptitude
(b) Reasoning
(c) Memory
(12) Spearman has given theory of intelligence.
(13) Name two personality tests.

(14) What is Mental Status Examination ?
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Instruction :  All question carry equal marks.

1. (a) Clarify the concept of Globalization. 7
OR
Discuss the implication of Globalization for HRD.
(b) Explain the role of vocational education and training in HRD. 7
OR
Which five models proposed by Cho and Mclean regarding HRD strategy and
practice ?

2. (a) Clarify the relationship between strategy — structure and HRD. 7
OR
Clarify the relationship between organizational culture and HRD.
(b) Explain HRD strategic choice as a steps of HRD. 7
OR
Discuss the policies, plans and practices of HRD.

3. (a) Explain the purpose of training need analysis. 7
OR
Explain organizational level training needs analysis.
(b) What is performance, problems and gaps in organization ? 7
OR

Discuss the training need analysis at the individual level.

4.  (a) Explain the small and medium size enterprises. 7
OR
Clarify the relationship between HRD and small medium size enterprise.
(b) Discuss the formal HRD provision. 7
OR

Explain the importance of informal learning in small-medium size enterprise.
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5. Answer in one or two lines :

)]
2)
3)
4
(&)
(6)
(7
®)
®)

Which are three main drivers of Globalization ?

Which leading western brands have became global brand ?

Why the world is getting smaller ?

Which two approaches are used the selection of public servant in China ?
How employees can get a better job ?

Which Global brand of Europe is most trusted brand ?

What is supply chain ?

Which country used internet more in all over the world ?

In India which city is emerging as the main centre in the computer ?

(10) What does Russell produce ?

(11) Give the full form of RBV.

(12) Give the full form of FDI.

(13) In which production India holds third rank in all over the world ?

(14) Mention the causes of weak performance.
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